
The Answer is….

What is the 
Problem?

Task Cards
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Directions:
On each task card, you will find the 

answer to a math problem. You are to 
create a word problem that would 
give that answer. You may use any 

operation you choose. The problems 
may be one step or two step 

problems.



Grades 
5-6 

Version 



The answer is...

What is the problem?

It took 3 ½ hours to rake all 
the leaves.

The answer is...

What is the 
problem?

It will take 8 trips for all the 
children to participate in 

the hayride. 

The answer is...

What is the 
problem?

There are a total of 316 
people waiting in line for 

the corn maze.

The answer is….

What is the 
problem?

Tyler ’s mom made 4 2/3

gallons of apple cider. 
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The answer is...

What is the problem?

It took Jorge 49 minutes to 
complete the corn maze.

The answer is...

What is the 
problem?

The total cost for the family 
of four to attend the fall 

festival is $36.

The answer is...

What is the 
problem?

They will need 3 buses to 
take all of the students and 

teachers to the pumpkin 
patch.

The answer is….

What is the 
problem?

The Fall Festival lasted 
2 hours and 30 minutes.
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The answer is...

What is the problem?

There are 168 pumpkins at 
the pumpkin patch.

The answer is...

What is the 
problem?

Mindy came out of the corn 
maze at 7:18 p.m.

The answer is...

What is the 
problem?

The large pumpkin was 
$1.24 more than the 

medium pumpkin.

The answer is….

What is the 
problem?

Ms. Thomason spent $48 on 
pumpkins.
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Grades 
3-4 

Version 



The answer is...

What is the problem?

It took 3 hours to rake all 
the leaves.

The answer is...

What is the 
problem?

There are 56 people 
waiting to go on a hayride.

The answer is...

What is the 
problem?

There are a total of 25 
people waiting in line for 

the corn maze.

The answer is….

What is the 
problem?

Tyler ’s mom made 4 gallons 
of apple cider. 
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The answer is...

What is the problem?

It took Jorge 30 minutes to 
complete the corn maze.

The answer is...

What is the 
problem?

The total cost for the family 
of four to attend the fall 

festival is $8.

The answer is...

What is the 
problem?

There are 62 people going 
to the pumpkin patch.

The answer is….

What is the 
problem?

The Fall Festival lasted 
2 hours.
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The answer is...

What is the problem?

There are 18 pumpkins at 
the pumpkin patch.

The answer is...

What is the 
problem?

Mindy came out of the corn 
maze at 7:00 p.m.

The answer is...

What is the 
problem?

The large pumpkin was 
$2 more than the medium 

pumpkin.

The answer is….

What is the 
problem?

Ms. Thomason spent $12 on 
pumpkins.
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Recording Sheet

Name: ________________________________________________________ Date: ______________________



Credits:

This resource was created by Jennifer Findley. It may be printed and photocopied for single classroom use. It may not 
be put on the Internet, sold, or distributed in any form.  Check out my store for more resources that are common core 
aligned.

Follow my blog for updates and freebies.

Thanks! 
Jennifer Findley

http://www.teacherspayteachers.com/Store/Kimberly-Geswein-Fonts
http://www.teacherspayteachers.com/Store/Kimberly-Geswein-Fonts
http://teachingtoinspirein5th.blogspot.com/
http://jenniferfindley.com/
http://www.teacherspayteachers.com/Store/Jennifer-Findley
http://www.teacherspayteachers.com/Store/Jennifer-Findley
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